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A & 0l & AF 2 E A A
20199 & =20lah LBHSIH L IIEISESIH, IS8 895 ~ R3S
S ER-1-F-
Ha: g A
CHol: ZEOIT O Al LB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
eSS 1,046,300 1,246,714 A 200,414
SEE AZ 842,374 1,026,672 A 184,298
F O HO AL g4t 645,684 802,182 A 156,498
S22 FAY &332 52,108 80,595 A 28,487
101 @14 dl 24,108 37,595 N 13,487
04 JI2ZtHZ22HEE =+ 24,108 37,595 A 13,487
O =28 &« 2ot 2R
81, 120& x9H 302! 21,903
O BAMU URTEFF A2(AHI})
147,000 3 x50I 2,205
206 M= Hl 28,000 43,000 A 15,000
01 MHZ 4l 28,000 43,000 A 15,000
O Z8A & IRSH X8 ZEFE 2
500& *40,0002 20,000
O && & dzo &E +  1,000,000& *3=] 3,000
© =3 dA3 =257 5,000,000& x13] 5,000
SSd2e 2,400 8,000 A5,600
201 ¢er24] 2,400 8,000 A5,600
01 At 22l 2,400 4,000 A 1,600
O sgMdIl 208 MZE 150,000 *6H 900
O BAEEZFY & ®X2eal 500,000& x33| 1,500
AAEFUSJAMIXEH 591,176 713,587 A122,411
206 = Hl 2,000 0 2,000
01 =8l 2,000 0 2,000
ontserz 21g =27 M7 10,0002 x200m 2,000
401 A& HIZ 201 Y] 589,176 713,587 A 124,411
01 A& HI 585,000 709,000 A 124,000
OT=el OtA2 ZIM2I1Z A 100,000 *150m 15,000
O3zleiel otAa=2 I LI Z AL 100,000 »100m 10,000
Oaxael OtAE TM2I13 A 100,000 «150m 15,000
OotZ&el tA2EMNLRD] 100, 000& *150m 15,000
Ounsiel orAZIM LI Z AL 100,000 *100m 10,000
2=cl =2 ZHISA 100,000& *150m 15,000
Odst2el oStz ZEHIA 100, 000& *200m 20,000
Odscl Eti+==2 ZHISA 100,000& *150m 15,000
832 sEE3A 100, 0002 *200m 20,000
olscl Eti+==2 HHISA 50,000& *200m 10,000
O=32dcl sti=2 FHIEA 100,000& *150m 15,000
Ousel oot ZEIAL 100, 000& *200m 20,000
O=cl oStz ZEIZA 100, 000& *200m 20,000
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V=
Hu: golg AL
CHelr FOIBOIAIME A (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Od4lel =2 HHIZA 100, 000& *150m 15,000
Oa=c =2 ZHISA 100, 000& *150m 15,000
O&aZRel Otset2 2+3 AL 100,000 *150m 15,000
O=del s2ZZTSA 100, 000& *150m 15,000
o7zl Otsetzd ZEIZ AL 100,000 *200m 20,000
Oascl OISED Ex=3A 100, 000& *100m 10,000
Ogtgel OtAZIM RIS AL 100,000 «150m 15,000
O&lMel(otE) El==Z S At 100,000 *150m 15,000
Oasel s2 OFASIM RIS A
100, 000& *100m 10,000
Ounsiel B2Y TAIJtA QTU S AL
3,500,000 =104 2 3,500
OX A2 (BtE)IA2HMN 2D S A
100, 000& *125m 12,500
OFZel th=2 SIHIA 100, 000& *200m 20,000
OMS SHOIACIIE & OFAZEEIA
100,000& *100m 10,000
OAAel ES2SLOIIE 2 OtAZEZEH S A
100, 000& *200m 20,000
OMScl 22E &x 232E ZHEEAM
9,000,000& =14 2 9,000
O4lEel oot B3 At 100, 000& *100m 10,000
OotEel F&Z ZEI3A 100, 000& *200m 20,000
OY =2l OtAZEZEIA(E=RY)
10,000,000& *1JH £ 10,000
Okel Eti=2 HHAL 100, 000& *500m 50,000
O==cl Eti+==2 HHIA 100, 000& *500m 50,000
o0ttt  ti=Z2 b8l , Al2l 24 S 22420
xel(d=2el 2 7IHA) 2,500,000 *8IH 2 20,000
ogtesla & MR A
20,000,000& =14 20,000
03 Al 2 THHI 4,176 4,587 A4
OFQU=J ALY 580,000,000*0.72/100 4,176
HPYXNA2 S 189,690 195,490 /5,800
SclBEEsI 126,390 126,390 0
301 gEtE 4= 126,390 126,390 0
05 S& -0 -2 120,270 120,270 0
ORI ESE= 111,520
O Jlz=¢ 200,000& x34H x 123 81,600
O &0z 200,000& x34Y %23 13,600
O 2= 20,0003 *34H +23| x 128 16,320
O gt =g 50,0003 x175% 13| 8,750
12 JIEtE4 3 6,120 6,120 0
O 0sd ste=s 15,000& x34H 128 6,120
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2N BES
Ha: g A
ool BHNALY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FURXNAEE 29 57,300 64,900 A7,600
201 £B-2d| 25,800 32,800 A7,000
01 At 22l 22,800 32,800 A 10,000
O FLUXXMEH2H 4,800
O FUNXIHE 2| 400,000& 123 4,800
O FUXXME 28+ 18,000
O =AY s34
50,000& 30 83| 12,000
O FUNXHAY SAS A=
50,000& 30 23| 3,000
O FUNXSS Az o sl
20,000& 30 *53 3,000
03 &AL2 Z I 3,000 0 3,000
0 s.9.s EE3XNEA 3,000,000& =13l 3,000
301 et A3z 31,500 31,500 0
12JIE243 31,500 31,500 0
O FOUXNXEH 28 ZA=E
525,000 x5t S+ 128 31,500
FoUEHMA 29 6,000 4,200 1,800
201 Let2d] 6,000 4,200 1,800
01 At 22l 6,000 4,200 1,800
O XN49slo FAxE 100,000& »30H »23| 6,000
SHAFXI & 22 7,000 9,000 A 2,000
HANE SR 7,000 9,000 A 2,000
201 et 7,000 9,000 A 2,000
03 &Ar2 Z I 7,000 9,000 A 2,000
© cHXOl & At 3,000,000& =13l 3,000
© =g3 I3EAI 4,000,000& *13] 4,000
SeEs dF2H 203,926 220,042 AN 16,116
JlEZ3l 203,926 220,042 N 16,116
2 B2 A 203,926 220,042 A 16,116
201 ¢er24] 121,968 144,370 A22,402
01 At 2t 2l 58,860 64,300 N5,440
© ZEt==EH| 27,040
O BIM % 2Rl 500,000& »12& 6,000
O &% &« &4l HM= 70,000 204 1,400
Olz2a=sz 13,0003 158 122 2,340
O 88 ¢ 82 M= 50,000& 504 2,500
O FogALZgI| ABF WHbI
800,000 »2CH 1,600




2N BES
=R R T EEET
9l Il EERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
O =NEA 7Y 300,000 « 122 3,600
O NS8 MUADERY 800,008 128 9,600
o0 29+g 15,280
O 2= 60,0002 *12) 1262 7,560
O MAYRILLY 20,0008 1% 2482 4,960
O MEZAIIZ HA2RLY
60,0001 x462! 2,760
o 2l 8,0002! *23% +602 11,040
O YRNB(BHZL +H=T, 2AULFX 23
oL BAKI® R) 550, 0002 *2CH 53] 5,500
02 232 63,108 80,070 ~16,962
© 3222 2 MAl 3,000,000 122 36,000
© ¢zl 1,0002 %5002 *5% 2,500
© X Hetyl 11,808
O g 250 (ZR)
1,50094 #1304 *3CH* 122 7,020
O 1g SEH (HLR)
1,650% 602 *1CH* 122 1,188
O XHBFHIRNY L L2
300, 0002 *3CH 43l 3,600
© AN&ZZHIRXHI 500,000%! * 122 6,000
© AS2582 SN2l 500,008 +122 6,000
W] 2yl 800,000 *13] 800
202 01 bl 58,098 55,572 2,526
01 2ol bl 3,450 3,300 150
O ZEYRET 0L 50, 000! ¥23% *33] 3,450
02 B 24 01 i 54,648 52,272 2,376
© 20l 54,648
0l 138, 0002 +23% + 122 38,088
O Jtet 60,0002 +23% 122 16,560
203 @R = HI 13,360 13,400 A40
01 JI22Y YR F Y| 6,600 6,600 0
O JlEeYYREHY| 6,600,000 * 1% 6,600
02 FRIIA YR ETY| 1,480 1,520 A40
O HANMALRETY| 40,0009 37 1,480
04 RA2YARETY] 5,280 5,280 0
O RNSIYRETH 40,0002 » 122 5,280
204 X243 A H| 6,000 6,000 0
NEEEEERSTE 2,400 2,400 0
O NMBYSLHAHI(SE) 150,008 128 1,800
O NMIYSLHAHI(RSH) 50,0008 128 600
03 SZL 2| 3,600 3,600 0




S ER-1-F-
Ha: gog #Y2YAY|

¢l =gl (chel & 9l)

= = = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O NMREYI2H &3Hl 100,000 «3H«12& 3,600
405 TtHabF S| 4,500 700 3,800
4,500 700 3,800

O d. e 2,500,000 *1CH 2,500

O HA HIS 7 (PUAE HFHD)

1,200,000& = 1CH 1,200
O gMEs X 7Y 80,000 =104 800




N = 0l & At & Ml A

2019 = =20l At Bt H  JDIEIEYE S H, Z2IHELESH SEHE ~ HE3S
SN Bo%E
BE: s AR
EHel: FHARZel (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A4S 1,122,823 1,416,150 N 293,327
295 A AL 933,593 1,248,706 A 315,113
= Ab2tel 108,067 87,990 20,077
HAMESEXH 108,067 87,990 20,077
201 et A | 78,067 87,990 AN9,923
01 AFR2t2l Yl 36,177 55,920 N 19,743
OMI|UHNMBH 2 200,000& *23| 400
o&I|tE 2 HE =2 376,250& x12& 4,515
OAagotdAL |2 110,000 x 12& 204 4 2,640
OsLINETERN2AL=Z 220,000& x12& 2,640
OoHlE dx=2(HId,32F2EI,8471)
228,500& = 12& 2,742
OXHILAXN2 (=L Moll, =X H2l)
500,000& *2CH =103 10,000
o&blgxXZ 10,000,000 =14 10,000
OFANEAHDIF 32 7Y 60,000& *2JH 4 3] 480
oRoAHIE2dE= 230,000& x12& 2,760
02 33249l 41,890 32,070 9,820
OYX|IC AIEHLHE MII2Z2 100,000 128 1,200
O2F&A HIIL= 200,000 128 x4 A~ 9,600
ONAEZ AHOIE=ZE &g
70,000& *12&+10,000& 850
O A& &Hl S X 330,000 *12&+40,000& 4,000
(©)sK=3] 1,000& *1,000L*5& 5,000
OXNHREUH(ESR) 1,500& x150L*3CH x12& 8,100
oOxEREl(aLSR) 1,650 x150L*2CH x12& 5,940
OXHFHHI 7AH L A2 FH|
300,000& *6CH x43] 7,200
401 Al HI YL 2 0HHI 30,000 0 30,000
01 A& HI 30,000 0 30,000
OFAMU F=XE OAE JIMLRI| S At
50, 000& *600m 30,000
HEXNA 29 182,710 175,350 7,360
clerEE s A& 116,710 116,710 0
301 Bt A= 116,710 116,710 0
BCSE -0 -EHEESENMNZ 111,130 111,130 0
O0|&E==20IE2s¢) 200,000& x31H x12& 74,400
O0&E=Z(A4H2) 200,000& 31 *23| 12,400
OO0 ELH (3o &M g
20,0003 *31H x23[ x12& 14,880
OO0 &S (BHE G 50,000& x189H 9,450




2N soS
HE: so%g AL
Sel: BN 2Y

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
12 JIEtE2 A= 5,580 5,580 0
O0IEE SAR2 15,000 x31H ~12& 5,580
FOXXNAHSH 60,000 54,440 5,560
201 2Et2A Y| 35,640 30,080 5,560
01 AP 2t 2] H| 32,640 30,080 2,560
OFQIRXIME 2| 400,0002 * 128 4,800
O2Y LS (FI|39 M)
50,000& *30H x12& 18,000
OSYLL(YASO BHLY)
50,000& 30 x4 & 6,000
OSg4L (YA 2W5Y BHLY)
20,0002 16 x12& 3,840
03 #AI2 I 3,000 0 3,000
OOt &E23 M=Al 3,000,000& =14l 3,000
301 LBt A= 24,360 24,360 0
12 JIEtE A= 24,360 24,360 0
OFURIME 2Y ALY
290,000*7t=x12& 24,360
Z= 0120 O] &F 6,000 4,200 1,800
201 LBt 6,000 4,200 1,800
01 AP 22| H| 6,000 4,200 1,800
OX<HZ o ZA 100,000 x30H 23| 6,000
WG BHXH 31,640 38,500 A6,860
cgH 222 29,640 37,500 A7 ,860
101 Q121 H] 10,140 20,000 N 9,860
04 JI2ZtHIZ22NEE S 10,140 20,000 N 9,860
OFEZH M= & JIZ3HE 22| o8
81,120 x5H 10 4,056
oOsSitz e oY 81,120 x5 52 *304 A 6,084
206 2 I 19,500 17,500 2,000
01 X2 Hl 19,500 17,500 2,000
oHlzE & Yols 4= 450,000 103 4,500
o222 ¥ JIZ2SE 88 X357 Y
500& *20,000= 10,000
OJIIXAZECIZII] A =87
500& 10,000 5,000
MRst sFz2e 1,000 1,000 0
206 M = Hl 1,000 1,000 0
01 =4l 1,000 1,000 0
OAIX EAEE 2¢ 200,000 x53| 1,000
Ol =CX stA AU 1,000 0 1,000




2N

e
BE: s%S AYFH
Sl WS BIEY CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
206 M =8l 1,000 0 1,000
01 M= dl 1,000 0 1,000
OAIX HAEF FE 200,000& *52 1,000
A2t 6,000 6,000 0
A S K2 6,000 6,000 0
201 fEt2E | 6,000 6,000 0
03 A2 6,000 6,000 0
O8td oi=0I=H XI& 3,000,000& 12| 3,000
O&tat oS0l AL X2 3,000,000& 12/ 3,000
IR E=g=) = 605,176 940,866 A335,690
272 FUSIALAH 605,176 940,866 A335,690
206 M =4l 12,000 12,000 0
01 M= dl 12,000 12,000 0
ottsgte SN2+ ME7E 50,0003 4004 2,000
Ozt d AMEAY 5,000,000% 274 A 10,000
401 AlE I 208 593,176 928,866 /335,690
01 Al&HI 589,000 923,000 A 334,000
QJIXIAICl BtEet2 ZHSA
120,000& = 166m+80,000& 20,000
OJtu1el M&E HHISA 150,000& *100m 15,000
©Jtnzel =2 ZHISA 100,000& *150m 15,000
Oglel =2 FHISA 100,000& *150m 15,000
Oo=¢gcl =2 FHISA 100,000& *150m 15,000
OF3cl =2 JHISA 100,000& *150m 15,000
OS3ucl 0t Z& L Bi+=2 ZHISA
120,000& *125m 15,000
OoZdcl A& FHI3A 300,000& *50m 15,000
OerE1c| Ot=etd ZHISA 600,000& *25m 15,000
OZdel Otsd ZESAM 120,000& *250m 30,000
O==cl =2 FHI3SA 100,000 »150m 15,000
O&dlilel =2 ZHIA 120,000& *125m 15,000
Oxi2el =2 ZHISA 100,000& *150m 15,000
OZ3cl =2 U SA 100,000& *150m 15,000
OE&cl E+2 FHISA 300,000& *50 15,000
OF=cl Ot=d ZZ33AM 120,000& *125m 15,000
Ozl Otst2d ZESAE 120,000 *125m 15,000
OANHE22| AT E=ZA 500,000& *10m 5,000
Ok&cd B2Y == FHISA
100,000& *50m 5,000
O==2 % 0222 ARIREZAHOIXAlIZ 2
404 4) 2,000,000 594 £ 10,000
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SN Bo%E
BE: s AR
el NEz8hy (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ootserd & =2 FXNEx(FHel 2 7
2) 2,000,000& =84 £-1,000, 000 15,000
o= d2Y MEIF =032 ZESAM
100,000& *50m 5,000
OFRO0HIE OIA23I17 &X
15,000,000& *1JH £ 15,000
©Jtn2el =2 HHISA 100, 000& *400m 40,000
o=2Ycl =2 ZHISA 100, 000& *300m 30,000
OeHSHAlA OIIIE IIZ=AHOA&E &X
10,000,000& *1JH £ 10,000
ogtE2el Otsetd 23 A 100,000& *200m 20,000
©Jtniel o2t 23 A 100,000& *140m 14,000
OSYUO0IE Dt=etd IMR2I] A
100, 000& *300m 30,000
O&3cl 45-21 ExAE 15,000,000 * 104 2 15,000
OE=cl =2 ZHIS Al 100, 000& *300m 30,000
oYHel ELdthi==2 L3 A
10,000& 5, 000m 50,000
ontset =2l AMel2L 5 =S40
rel(stdel 2 7IHA) 2,500,000 *8IH 2 20,000
03 Al 201 YI 4,176 5,866 21,690
O A& 2| 580,000,000& *0.72/100 4,176
sds HdE2F 3 189,230 167,444 21,786
Jl=234l 189,230 167,444 21,786
Bt oyl 167,850 167,444 406
201 Let24d] 88,500 83,820 4,680
01 At 22l 60,600 57,120 3,480
OHFAEE & SAEXN ¢
1,000,000& 122 12,000
O2Y+L (ML ASL) 20,0008 «1H *2452 4,900
(©F=ES). 60,0003 x1&H 120 7,200
Q&2 HAZRE 60,0003 46 2,760
O =&l 8,000& x25%H 60! 12,000
O30S 4 HHAXZ 5,000,000 24 & 10,000
oYt (&4& 2 dEZF) 15,0003 10004 1,500
O eh4=ZH| (A IHH =) 70,000 20K 1,400
OLEILEH (BN ¥ XI2Ra)
500,000 x83| 4,000
Oget>ZHI(EEE &L &2 M)
50,000& *50H 2,500
OYUB=EH(MN2PS2) 13,0008 *152 128 2,340
02 =224l 27,900 26,700 1,200
oORER=S 700,000& x12& 8,400
(OFSECIR=A=, 100,000& = 12& 1,200
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SN EUS
Bu: sog #I2YRY)
gel: D=2 )
A - HE B9 (3A) - HRAY - BHYS il 2
OYII+=T RS (A, SEFEL)
400,000& 123 4,800
OBMN, SSHEY HEX =
15,000& *100E * 13l 1,500
OEM HIIRSB 1,000,000& »12& 12,000
202 oddl 63,150 60,624 2,526
01 SLHOIYI 3,750 3,600 150
O22dEZ NI 50, 000& x25% »33| 3,750
02 M0 59,400 57,024 2,376
OgHubl(I2) 138,000& 25 » 12 41,400
O M0l (A 60,0003 x25%H 123 18,000
405 THebH S| 16,200 0 16,200
01 XL = ZH SHI 16,200 0 16,200
o=sgll #¢ 6,000,000 = 1CH 6,000
OFAMU LD 2,500,000% *1CH 2,500
ST )| 2,500,000 = 1CH 2,500
OSK&Ega Wi & 1,600, 0002 = 1CH 1,600
OdHALE HIOIZ 60,000& 204 1,200
OHALE 2 Xt 20,0002 » 1204 2,400
R =2 21,380 0 21,380
203 YR =&l 14,180 0 14,180
01 )22 =4 6,600 0 6,600
OJ&22gYF=a| 6,600,000& x1H 6,600
02 33 H 2= 2,480 0 2,480
OFRAIME R F &I 40,0003 x62H 2,480
04 FN2ELRZ=TH| 5,100 0 5,100
ORN2EYF=AHI 425,000& 123 5,100
204 MR FH| 7,200 0 7,200
01 MR FH 2,400 0 2,400
oOXMgHR=HAHY ) 150,000& = 12& 1,800
ONHZHLRLHAY Z) 50,0002 122 600
03 EZYFEHI 4,800 0 4,800
ONSREEERE &3t 100,000& x4 128 4,800




N & 0

& AR E A A

20199 & =20lah LBHSIH L IIEISESIH, IS8 895 ~ R3S
SAN: DY
M OIS A FH
S DY AKX 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DO 777,917 970,437 A 192,520
DOEHE AHZ ZHI 618,243 827,579 A 209,336
DY FAS X 22l 92,800 92,000 800
AN BB3XH 35,800 36,800 A 1,000
201 L2l 800 800 0
02 2324l 800 800 0
OFA &4 400,000& »23] 800
401 AIEHI L 201 35,000 35,000 0
01 A& Bl 35,000 35,000 0
OBM 22 uiM ¥ UE 2=3AM
20,000,000& =14 2~ 20,000
OBEEAMZ, ASAYH, DUHEARN S &
=& X ¥ EZ2EEAFE 15,000,000 14 15,000
0y =N 29 57,000 55,200 1,800
201 Let2d]| 39,000 37,200 1,800
01 At 2teltl 36,000 36,000 0
OFQUXXHEH 224l 400,000& 123 4,800
ORI+ 31,200
OFUXNXAE sz > (FHI3])
50,000 30 «12& 18,000
OFUXNXAE sz > (LASF)
50,000 30 42 6,000
OY&3 2sle &Y
20,000 *30H «12& 7,200
03 & Ar2 Gl 3,000 0 3,000
onts E23 M= 3,000,000& »14! 3,000
301 et d = 18,000 18,000 0
12 JIEBHE4 = 18,000 18,000 0
OFLUXXEEH 28 ZA==E
300,000& x5t =+128 18,000
HEX R 29 72,780 70,980 1,800
scletEasid 66,780 66,780 0
301 et Az 66,780 66,780 0
05 8% -0 -tHESEH3 63,540 63,540 0
o2 - HHHESSELS
OoJlg=¢ 200,000& »18H «12& 43,200
o2 - HHHESHELS
O&N= 200,000 18 23] 7,200
Ocl - BT ESELS
O3l & a2 20,0003 «18H #23| « 128 8,640
Ot g 50,000& *x90H 4,500
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2H: D
= OUH AFSEH

Sl BN 2Y CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 3,240 3,240 0
O0IsE SHea 15,0003 »18H «12& 3,240
FoUEHMA 29 6,000 4,200 1,800
201 LBt 6,000 4,200 1,800
01 At 22l 6,000 4,200 1,800
OXdslo & 100,000& »30H »23| 6,000
YPHE H EFxH 36,711 38,699 A 1,988
e BF e 5,080 5,080 0
201 Let24d] 2,080 2,080 0
02 23=24gHl 2,080 2,080 0
OFM, =Xz2, SS34 FaX =
13,000& *80E 23| 2,080
206 M= Hl 3,000 3,000 0
01 MHZ 4l 3,000 3,000 0
OFAEEZTY 250,000& 1228 3,000
E2Y Z2 2 31,631 33,619 A 1,988
101 @124l 16,631 18,619 A 1,988
04 JIZHHZ2Z2XNSE+ 16,631 18,619 A 1,988
O E2¥ M= &g 2 Jt2ss 22 =4,
stz ate| ol 81, 1203 »8H 20 12,980
O SLHEFHMUMA) HEA 2 FH Mz
1,120& »15H x33] 3,651
206 = Hl 15,000 15,000 0
01 MHZ 4l 15,000 15,000 0
© B2 2 JI2sC 48 235 L =X 7
2 500& *20,000= 10,000
O Hz & dals 4357 500,000& x63l 3,000
© B2 % 3G X4 2E 2Y
1,000, 000& *23| 2,000
SHAL2 ] 3,000 5,000 A 2,000
HAES X2 3,000 5,000 A 2,000
201 Let24dH] 3,000 5,000 A 2,000
03 A2 S HI 3,000 5,000 A 2,000
O&f& &t SOl &AL 3,000,000& =13 3,000
NE2Eg 412,952 620,900 A 207,948
AARFUSJAMSXH 412,952 620,900 A 207,948
401 Al HI R 201 I 412,952 615,900 A 202,948
01 A& HI 410,000 612,000 A 202,000
OgdE2e =22 % =2 FHISA
100, 000& *200m 20,000
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2H: D
= OUH AFSEH

el NEz8hy (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OE2el == EHHISA 100, 000& *250m 25,000
oditel s22E 2 =2 FHISA
100, 000& *200m 20,000
Od43el s22E 2 =2 FHISA
100, 000& *200m 20,000
o822 =22 2 =2 FHISA
100, 000& *250m 25,000
oxgiel s22xE ¥ =2 FHISA
100, 000& *200m 20,000
oxe2el =2 HHISA 100, 000& *250m 25,000
odziel s2EE 2 == FHISAM
100, 000& *200m 20,000
O 22e =22 I =2 FHISAM
100, 000& *250m 25,000
Oosglel s22F % =2 ZHISAM
100, 000& *200m 20,000
O&&2e s22F F =2 FHISAM
100, 000& *200m 20,000
OYZZ1iel Otsetd ZEHIA
100, 000& *200m 20,000
OY&Z3el sZ2EZ L =2 HUISAM
100, 000& *200m 20,000
O=8ecl sZ2ZF % =2 FHIZA
100, 000& *200m 20,000
Od4t2e] JIAHSBEZ ZEHIA
150, 000& *200m 30,000
oddel~-gdEe BH IHZ ZHIAM
100, 000& *400m 40,000
OuE2el ot=otd ZHE 3 AL 100,000 *200m 20,000
oottt  ti==2 |, Al2l 24 S 228
2Hel(2S12l 2 4904) 4,000,000 *50 2 20,000
03 AIE S THHI 2,952 3,900 A 948
OAIE 24 410,000,000& *0.72/100 2,952
DU HF2H 2 159,674 142,858 16,816
Jl=3l 159,674 142,858 16,816
2Bt 159,674 142,858 16,816
201 et 92,524 88,100 4,424
01 At 22l 48,800 41,620 7,180
O g+t 21,340
O=MEX £ AAREZ72  500,000& 102 5,000
OMRE HMFH A28 Y
400,000& %103l 4,000
Ottt s 2235 #*&  200,000& 102 2,000
O =+=92 [l 50,000& x503] 2,500
Odz & &k =8 13,000& 15« 12& 2,340




ol 22| (el @)
M- BB (BH) - NEAY - BaS ofl &t o SSa HDE2
OAIN ¥ AE H& 100,000& 1504 1,500
OAxEEBILAN ¥ g 29 100,000& =128 1,200
OstdEHES & & K 2
50,000 x2E «4& 400
OAZLD], "4 Yx=2 200,000& x12& 2,400
o2ds4 15,260
O AH| 60,0003 *1H %130 7,800
OMe=22+= 20,0003 *»1H »235! 4,700
OMESHIAZ RS 60,000& x46L 2,760
(©F=1=1s] 8,000& x15H 60 7,200
OMdl Ss2=8+7* € E26td A2 AU
Xt 500, 0003 *2CH x5 5,000
02 33249l 43,724 46,480 N2,756
03322 % MA 25,380
ORER= 300,000& x12& 3,600
OMIIRB(HA, SNaB, EHER, 25
SH&A!) 1,400,000& *12& 16,800
OFANROEH SSEZ 100,000& =128 1,200
Oaxxz 22 130,000%12& 1,560
ogst2etd = 165,000& = 12& 1,980
OXNEHIEAZ 80,000& *3CH*13] 240
O™ ZHl 1,000& *1,000¢ =4& 4,000
OANEZH SXH (HAEY L HAHS £=4)
800,000& »8& 6,400
OXEEH & KXl 7,944
Oxg 780 1,650 1404 *2CHx12& 5,544
OXNEFHESAH € A2EH|
300, 0003 *2CH x43| 2,400
202 044l 37,890 32,838 5,052
01 2LH0HI 2,250 1,950 300
oO2A=& 0| 50,000& *15Y 33| 2,250
02 & H0b| 35,640 30,888 4,752
O ¥l 35,640
oJl= 138,000& 15 x12& 24,840
O It 60,000& x15H x12& 10,800
203 ¥ R =&t 10,960 10,920 40
01 J| 2 2HHR=XH| 6,600 6,600 0
OJ|&H#2d I 28| 6,600,000& x1H 6,600
02 HJAJMAHRFAH| 760 720 40
OFIAINNMAR =AY 40,000& =194 760
04 EANSIELRF=XH| 3,600 3,600 0
ORN2IIRF&Y| 300,000& ~12& 3,600




25 DA
Bu: D00 #I2ARY)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
204 X2 =2 F H| 6,000 6,000 0
01 XS LRHAH| 2,400 2,400 0
OXHI LR LHHY| (HE) 150,000& = 12& 1,800
OXNMIYLSL A (SBE) 50,0008 122 600
03 SEYREHI 3,600 3,600 0
ONREYSRE 25| 100,000 x3H x12& 3,600
405 XH&HF S HI 12,300 5,000 7,300
01 AL =2 EF SHI 12,300 5,000 7,300
OoI& & cctv WAl 1,500,000& *1H 1,500
OBXMA P 200,000& =84 1,600
OLE=ZEH 2 1,100,000& *1H 1,100
OCHls SAI 7Y 6,000,000& x1H 6,000
Ot )| ¢ 2,100,000& = 1CH 2,100




= A
N = 0] &F AF S & AN A
20198 &= 20 A LEHS|H LV JIEISES H , 2IIESEEH E8ES ~ HA3S
SN 2o
Bu: H20 AQAY
Sl FOIMBEY g4 (B9 ®R)
_ (o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HEH 882,280 894,037 A 11,757
ME0H AL A 728,058 729,541 N 1,483
FOIME Ol SEA 484,318 487,301 A 2,983
c2H 2222 32,910 59, 541 N 26,631
101 @121 ] 9,410 16,041 ANB6,631
04 JIZtHIZ22XNSE S 9,410 16,041 A6,631
OEZH M= ¥ JIZ23tE 22| o8
81,1202 x5H x20! 8,112
0LYF =8 HA UL HENY
81,120% *4H x4 3| 1,298
206 M = dl 23,500 43,500 A 20,000
01 X2 4| 23,500 43,500 A 20,000
oZ2Z 2 I THE xF 2L
500 «20,000=2 10,000
OoHlzE ¥ Ydills «¢=2 2¢ 500,000 *33| 1,500
o2 =X 7Y 3,000,000& x23| 6,000
OMOIZ2 JiZ23sts & 22X 4
500& «12,000=2 6,000
HAS A2 9,312 14,793 N5, 481
101 Q124 H] 8,112 8,593 AN 481
04 JI2ZtHIZ2 2 NEE S 8,112 8,593 AN 481
oY=, s & 22X HA o2
81, 120& x5 20 8,112
206 M = Hl 1,200 1,200 0
01 X Z H| 1,200 1,200 0
o2&X L EzH 5 FAS8E 7Y
300,000& 43| 1,200
AP EF0=2AAIY XS 442,096 412,967 29,129
401 Al HI L 204 HI 442,096 412,967 29,129
01 Al&H| 439,000 410,000 29,000
Osd1el == HHIZ2AH 100, 000& *250m 25,000
O&tgt1el Hiz== HH|lZ2Al 125,000& *200m 25,000
ods1el s2Z& YL =2 JHI 3 A
100, 000& *250m 25,000
OdES4el DS & el2da ZA
30,000,000& = 14! 30,000
OXINE2e OIsYF L2tE EXZ2AH
22,000,000& x 14! 22,000
OnZ2e| OtAER TMNR2]| ZAb
50, 000& *440m 22,000
Ox=&T1e s Z& Y Hi=Z HH ZA
100, 000& *300m 30,000




SN 2o
M 420 AYE
el EOIMEHO A4 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=Z1el OtA2R M 2T 2 A 50,000 «700m 35,000
Ousteel OtAZ2IAM LI ZAL 50,0003 *500m 25,000
ods1el s2EE ZA 125,000& *200m 25,000
O =32l =2 HHIZA 100, 000& *150m 15,000
ozgee| OtSetd HEZ I I M
600,000& *50m 30,000
o43st2el E+2 HHISA 100, 000& *200m 20,000
OuwZ3el JNHFBHZ L IA
100, 000& *500m 50,000
o322 =2 =& AMY
10,000,000 * 14 & 10,000
OHXI& el ot2=X3s2 el I A
30,000,000 » 14l 30,000
o0tserd =2 |, Al2l 24 S 2280
2 Ml (as42 2 304) 5,000,000 *44 2 20,000
03 A& S THHI 3,096 2,967 129
OAIE 24 430,000,000& *0.72/100 3,096
HANSRA &2 172,000 168,400 3,600
HEE FAEE =4 1,200 1,200 0
206 M= Hl 1,200 1,200 0
01 MHZ 8l 1,200 1,200 0
OHEAN BAES ¥ 100,000& =122 1,200
FURNXAE 29 57,000 54,000 3,000
201 Let24d] 39,000 36,000 3,000
01 At 22l 36,000 36,000 0
OFQUXXHEH 224l 400,000& x12& 4,800
OFLUXXASE FIlgo g
50,0003 30 «12& 18,000
OFLURXAE LAIZ G
50,0003 30 x4 & 6,000
OFRURASRE Y - 2D HALY
20,0003 308 128 7,200
03 & Ar2 I 3,000 0 3,000
OOt=2EE3l Mzl 3,000,000& 14! 3,000
301 et Az 18,000 18,000 0
12JIEE43 18,000 18,000 0
OFCUXXEEH 28 TA==E
300,000& x5t =+12& 18,000
NRUNEEIAZIMNEH 2 88,800 103,200 A 14,400
201 L2l 88,800 103,200 A 14,400
01 At 22l 6,000 6,000 0
OANRE MREE & SAEXN 7Y
200,000& »12& 2,400
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SN sSs

A28
M A0 A
eelr FARX 2el

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OdH HA8E Y 100,000& »12& 1,200
OdH MiEE ABE 78 & =KX
200,000& »12& 2,400
02 2324l 82,800 97,200 214,400
O&d=JI ¥ SIHEFI dU=z
300,000& x12& 3,600
OdH B223 (&I, 4dt=& &)
5,000,000& x12& 60,000
OdJl, A8 otdze| CHEHl 600,000 128 7,200
OHdEH Re1dH 49| 200,000& »12& 2,400
Os&J| etdzte| A Tyl
200,000& »12& 2,400
OHH =% X 22t 300,000& 122 3,600
oOMEHHEE 23I|17 =dK Xl
300,000& =122 3,600
AH&HF SHI 25,000 10,000 15,000
405 TtHabH S| 25,000 10,000 15,000
01 AL EFH S 25,000 10,000 15,000
OYola U Sot2lY SIII PY
10,000, 000& * 14 10,000
o=l & B35 ¢ 5,000,000 =14l 5,000
O22 4 Holg & X £ 200,000 504 10,000
HEX R 29 71,740 73,840 A 2,100
sclBtEEs N 62,320 66,220 A 3,900
301 L2 A S 62,320 66,220 A 3,900
05 & -0%-EtEE2ES2483 62,320 66,220 A 3,900
oola=¢ 62,320
OJlex=4 200,000& *x19H x12& 45,600
Oo&N= 200,000& x19Y *23| 7,600
Oz&EA+H 20,0003 «198 #2353 x12& 9,120
SCIBEEs 243 3,420 3,420 0
301 gErE L= 3,420 3,420 0
1224 = 3,420 3,420 0
© 0l& sS4l 15,0003 x19H 123 3,420
FOEAHMA 29 6,000 4,200 1,800
201 LBH2E| 6,000 4,200 1,800
01 At 2t 2l 6,000 4,200 1,800
© X939 A 100, 000& »30Y *23l 6,000
A0 HdF2H 154,222 164,496 A 10,274
Jl23l 154,222 164,496 A 10,274
2 B2 A 163,422 157,896 N4 AT4




Moo
SNEH HE2HHH|
Jl2&dhl ?HA)
K- EH3 B (3H) - HSAY - Ba2 ﬁlf& HD=2
201 Bt A | 92,680 99,680 A7,000
01 AP 2t 2l Yl 45,000 49,900 A 4,900
O LA H| 60,0003 *1H x126Y 7,560
oM z22=Y 20,0003 * 14 248 4,960
oN=HlA 22X = 60,000 x46 2,760
OF==1] 8,000& x17H x60 8,160
OLAFEIIN & X2 & 300,000& 43| 1,200
oMe ¥ BIRSE 13,0002 105+ 122 1,560
OMIH ¥ AZH= 70,0002 *200H 1,400
OHIIHIS &2 L AXNTY
50,000& *2JH 53] 500
O& =7 &clbl 50,0002 x40 =128 2,400
OB 40 U AT A 50,0002 «3H*128 1,800
ONDE HARH APE 2 Y 44 81|
300,000& x12& 3,600
O=BAMEXN L ANREE 7Y 300,000& x12& 3,600
OMMal S8+ &bl iz
550,000& =10 5,500
02 332494l 47,680 49,780 A2,100
oRWR2 600,000& x12& 7,200
OFA R0ZH &4 150,000& = 12& 1,800
O A HOotM2e E2H 330,000& *4 2 D 1,320
O Xtk Bty 11,360
Oxg 780 1,500 x1404 *3CH=12& 7,560
OXBHUISAY L 222
300,000& *3CH *43] 3,600
OXNSX I At 200,000& *13] 200
OXg L ML 23 100,000& = 12& 1,200
OHAEAN I3 800,000& x12& 9,600
ONAEZ HOIE=ZHE &HIL22 500,000& 128 6,000
OEVE & A JMIR=2 & RUAES
100,000& = 12& 1,200
OA4 2Z2|Hl 8,000
OAH 2t 1,000 *1,000¢4 *5& 5,000
OAl& &Hl 8 Xl 250,000& x12& 3,000
202 O B 42,942 40,416 2,526
01 2L Y] 2,550 2,400 150
O22=&0H| 50,000& *17H 33| 2,550
02 EHNY| 40,392 38,016 2,376
O & ¥l 40,392
OPIE= 138,000& x17H x12& 28,152
O It 60,000&x17H x12& 12,240
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N & 0

& AR E A A

20199 & =20lah LBHSIH L IIEISESIH, IS8 895 ~ R3S
M WESKH
3 HSXHAS B
S HsXY FARX 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s X 633,488 870,240 N 236,752
S X AHS ZHI 502,314 731,282 N 228,968
s X EASX 2el 2,300 4,100 A 1,800
AN BB3XH 2,300 4,100 A 1,800
201 L2l 1,800 3,600 A 1,800
01 At 22l 1,800 3,600 A 1,800
OFAN BAESE S 42d 23 74
150,000& »12& 1,800
206 M= Hl 500 500 0
01 M2 4l 500 500 0
OBAMN HR AE22UH (AR, FAE S)
50,000& x10& 500
HHXNH 2F 44,420 44,420 0
selpngsxa 44,420 44,420 0
301 et d = 44,420 44,420 0
05 S& -0 -2 42,260 42,260 0
OoSclEtEEsEaS 39,360
Oo0l&E=+=< 200,000& x12H x12& 28,800
o&n= 200,000& 12 x23| 4,800
Ozl 20,0003 x12H #2353 x 128 5,760
Ot =g 50,0003 58 13| 2,900
12 JIE24 3 2,160 2,160 0
o0 Stea 15,000& 12 128 2,160
YPHEE H BFxH 17,890 21,626 A 3,736
TEH 222 16,490 20,026 A 3,536
101 1Al 6,490 10,026 A 3,536
04 JI2ZtHZ22HEE = 6,490 10,026 A 3,536
OE2H M= ¥ JtZ23EH, S&2 2el 98
2 81, 120& »4H »202! 6,490
206 = Hl 10,000 10,000 0
01 MHZ 8l 10,000 10,000 0
022 & JIZsE 248 =stF ¢
500& *16,0002 8,000
otz & dols &35 ¢ 1,000, 000& *23| 2,000
IR #F e 1,400 1,600 A 200
201 2et24d] 1,400 1,600 A 200
01 At 2teltl 1,400 1,600 2200
o3 224 =357Y ¥ RA2a
200,000 *4H & 800




s XH
D S XA Z
D EE H 8

CHB O (B) - NRAIY - BAS il H D=2
| | OAIX HA2E 7 50,0002 *12& 600
CHS XIS SALK & 9,000 9,000 0
A EE X 9,000 9,000 0
201 LBt2 A 9,000 9,000 0
03 A2 2 HI 9,000 9,000 0
OX2 4 AEHGHOl SHEOl B A
3,000,000 * 13 3,000
OFML0l WSXHQ LeHRHE A
6,000,000 * 13 6,000
pEyY 355,542 580,636 A 225,094
REFUSFALX A 355,542 580,636 A 225,094
401 AIEHIZL 2O 355,542 580,636 A 225,094
01 AlZHI 353,000 577,000 A 224,000
OX32l OtA2HM2I](80-2)
100,000 *250m 25,000
OAFSE 12l AR M 2T (415-1)
100,000 *250m 25,000
OAFAE22] OFA RS M 2T (406-2)
100,0002 *200m 20,000
OZ0I22] sS2ZHZAH734) 100,000 «230m 23,000
OS A2 OtARHM D] 100,0002 *200m 20,000
OF 422 OtARIMN D] 100,000 *200m 20,000
ODtZ2l OtARIMN )| 100,0002 *250m 25,000
=Y SRIFTA 100,000 *250m 25,000
OXNE S2EHZA 100,0002 *250m 25,000
0Z0l12 S2EEBA 100,000 *250m 25,000
OXH2 S2EHIBA 100,000 *250m 25,000
Os™2l S22 FHIB A 100,0002 *250m 25,000
OX32 OISAHLIHBA 100,000 *100m 10,000
050|122 S2EFHZAHUNS2HEX)
100,000 *200m 20,000
OFNe| SZEISAHUS2AEI)
100,000 *200m 20,000
OIS orY B+ 2X Y| A28 S 22 M0l
erel(x2el o 1HL)
1,600, 0002 * 127§ £ +800, 000! 20,000
03 AlE 2 THYI 2,542 3,636 A1,094
O A& 2 Y 353,000,0002 %0.72/100 2,542
SAH FOURXLE 29 58,000 71,500 A 13,500
FOIXRIME 29| 58,000 71,500 A 13,500
201 LBt2 ] 40,000 52,000 12,000
01 AL 22/ H] 36,000 41,000 A5,000
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M HEXH
M WX AMEZH
t

Sl HEXR FURNAME 2 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFoUXXHE S2FH| 400,000& 128 4,800
OFAUXNXAA HIIg o EFALxG
50,000& *30H = 12& 18,000
OF0XXRE LAZF O LG
50,000& *30H x4 & 6,000
OFUNXIFAY YHslo, S5l HaLY
20,000& *30H x12& 7,200
02 33249l 1,000 1,000 0
OFAUXXHEH HEAZH| 250,000& 4 & 1,000
03 At H I 3,000 10,000 AT7,000
oOnIsE23 M=A 3,000,000& x13] 3,000
301 dEtE A= 18,000 18,000 0
12 JIEtE &2 18,000 18,000 0
OFUXXHMEH ZAI=E
300,000& x5t Sx12& 18,000
HESAE &5 15,162 15,162
HMEAEE A=S 15,162 15,162
401 Al HI YL 2 0HHI 15,162 15,162
01 A& HI 15,000 15,000
OltSa & A2 HMSAE JIs 2
15,000,000 *14] 15,000
03 Al& 201l 162 162
OAN&E 208 15,000, 000%1.08/100 162
HsXNH #H2H B 131,174 NT,784
Jl2 &bl 131,174 NT,784
A E2AH| 125,174 AN 9,584
201 et A | 71,660 AN6,920
01 AFR2t2l Yl 40,040 N 2,020
O YBt=gH| 14,260
oo ¥ RIS HH 300,000& 43| 1,200
Oad U AN S HE 70,000& *203] 1,400
Og 8 & A2tE HI & 50,000& *300H 1,500
Oodnz L X 52 13,000& x 102 x12& 1,560
O=SASA L AIRES 7€
200,000& x12& 2,400
OXAHEH AE2E 2L 200,000& «12& 2,400
O&Jl, JI7 & 272 =4l
200,000& =103 2,000
ORolHH 44l 150,000& *12& 1,800
ozg=sY 15,360
Oga ¢ 60,0003 *1H %128 7,680
OMNE YAZ2Y 20,0003 1Y 246 4,920
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EX: WsXA
M. HSANH HY2IFH|
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ONEHIAMNXN 22E 60,000& *1H 46 2,760
O] 8,000 x14H x60 6,720
oYxz 1,200
OFLD AdXE L AIZZ2/HI (HA}
50,000& *2CH x12& 1,200
Os=2=Z EBH=3J1Hel =2 #¢
2,500& *1,000H 2,500
02 =329l 31,620 36,520 A4,900
03222 % MA3H2(EXz2 & 3535
AHAl ILEH) 800,000& x12& 9,600
O™ ZHl 1,000& +1,0004 =5& 5,000
O Xt & Bt 7,440
OXNsEREMH 1,500 x 1404 *2CH*12& 5,040
OXNEFHHISAH € A2EH|
300, 0003 *2CH x4 3| 2,400
O A& &Hl S XYl 1,000,000& x4 3] 4,000
OFAMN ¥ =X X BEasA
13,0003 *30E *x23] 780
OREE L5523 400,000 x12& 4,800
202 04| 35,364 32,838 2,526
01 2LHOHI 2,100 1,950 150
oOZA=&H 0N Y| 50,000& *14H 33| 2,100
02 EHN Y| 33,264 30,888 2,376
O2 X0l 33,264
oJl= 138,000& *14H x12& 23,184
OJbaH 60,000& *14H x12& 10,080
203 YR =AY 10,880 10,840 40
01 J|22I PR =&Y 6,600 6,600 0
OJ|&H2dIRF&Y| 6,600,000 x1H 6,600
02 E R R =AY 680 640 40
OFIAINNMAR =Y 40,000& =174 680
04 ENSIHRF=AY| 3,600 3,600 0
ORN2IIRF&Y| 300,000& x12& 3,600
204 X243 A Y| 6,000 6,000 0
01 XS RHFH| 2,400 2,400 0
OXMBALLHAHH|(HE) 150,000& = 12& 1,800
OXNUZTYRLHAYI (PAY) 50,0002 +128 600
03 SEYRZHI 3,600 3,600 0
ONREHEBSRI =t 100,000& *3H x12& 3,600
405 XhAHE S| 1,270 6,500 A5,230
01 M =S FSHI 1,270 6,500 AN5,230
odAIE & 2 77,000& =104 770
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t

N & O &

S0l a e A DIEISE A, SIESEH &<

for

A

- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o %@i HRE2
728,356 836,482 A 108,126
0O AFE AH| 594,882 698, 174 A 103,292
Ol M & T ol SFA 451,792 543,884 AN 92,092
c2H 2222 110,316 27,322 82,994
101 @121 ] 57,316 14,322 42,994
04 JIZtHIZ22XNSE S 57,316 14,322 42,994
OFEZH L JIZ25te Hx=&Y o182
81,120& 102 28 22,714
028 L SHz Hy oLy
11,1208 10«18 14,602
©O4.40tH 100=YE JIEHAI OIHl =283 &
ol M= & 22l o8
81,120 »18H *132+1,017,000& 20,000
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oMY SYED 20 L FH0 Y&
150,000& *3JH 2~ 450
02 2224 H| 1,650 780 870
OFA, 2X3l& X £=H
13,0002 x50= +13] 650
OFA &=z &X 100,000 =104 1,000
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201 Let24d] 2,000 2,000 0
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 441,000 555,000 A 114,000
O4dat1el == HHIZSAt 50, 000& *200m 10,000
od4zel s2 X 2 =2 ZFHSA
50,000 *300m 15,000
Od=cl Eti==2 ZHISA 50, 000& *300m 15,000
OUXlel 223 E=32A 8,000,000& =14 & 8,000
o=32cl EtH+==2 ZHISA 50, 000& *200m 10,000
oddtel Eti+==2 ZHI3A 50, 000& *400m 20,000
o=2=31el otAZ2 IMLI[Z A 40,0003 *500m 20,000
OFS12l BUF AFAL U J|s2Y
10,000,000& *1JH £ 10,000
Oz=2c st&EA EH S
3,000,000& =14 2 3,000
=322l 82 FHISAM 100, 000& *200m 20,000
O=s2e2 =2 HHISA 100, 000& *200m 20,000
OXHiel =2 Z& 2 =2 ZFHISA
50, 000& *400m 20,000
OXzel s2 ZEHIA 100, 000& *200m 20,000
Os8Atel OtAZH M2 S AF 50,000 *400m 20,000
oaE1el EtH+==2 ZHISA 50, 000& *300m 15,000
o&22c = FHISA 50, 000& *300m 15,000
SsHel Eti+=2 ZFHI A 50, 000& *400m 20,000
Sat2el Eti+=2 IS A 50, 000& *300m 15,000
O==1cl otd =LAt 50, 000& *300m 15,000
OAdI2el =2 2 £ 2 ZHI3A
100, 000-& *200m 20,000
OXiiel =2 JHIAS 100, 000& *400m 40,000
OXhzel =2 ZHIALS 100, 000& *400m 40,000
OEAcel =2 FHIAL 100, 0002 *300m 30,000
oOtsete =2 |, Alel 24 S 228
A2l (gaoel 2 5HA)
3,500,000& =671 2~-1,000,000& 20,000
03 Al 20 HI 3,168 3,447 A279
O A& 2| 440,000,000& %0.72/100 3,168
A2 2| 44,000 49,000 25,000
AAES K& 44,000 49,000 25,000
201 Lt 2| 35,000 49,000 14,000
03 A2 Z Hl 35,000 44,000 29,000
©Ot0l & GHSEOl & At 9,000,000& x13] 9,000
OM192 HE XL HBI=S=A
21,000,000& x13] 21,000
OH&EXH HOSE LHAE  5,000,000& 12 5,000
301 YprE A3 9,000 0 9,000
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0 &
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OM193 HE XS] =M ESHI Atell 2
9,000,000& =13l 9,000
HHEXNH 2F 68,820 67,270 1,550
scletEss A& 62,820 63,070 A 250
301 LAz 62,820 63,070 A 250
05 S& -0 -EtEEs2E 59,760 63,070 A 3,310
OJURSEa=, 200,000& =178 «12& 40,800
O0lEANH= 200,000& x17H #23| 6,800
OO0l &3 &A= 20,0003 x17F #2353« 12& 8,160
OgtE g 50,000& *80H 13| 4,000
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Q0% sd 23 XA 15,000& *17H 128 3,060
FUEHOMU A2 6,000 4,200 1,800
201 £B-2dH| 6,000 4,200 1,800
01 At 22l 6,000 4,200 1,800
OXYslo &AM 100,000& 30K »23| 6,000
HEH FOIXIMEH 22 60,500 58,140 2,360
FURNXHEEH 29 60,500 58,140 2,360
201 ¢4l 42,500 35,100 7,400
01 At 2t 2l 35,900 30,900 5,000
OFUNAAY 5|9 Bu+g
50,000 *30H » 123 18,000
OFURIFAY YASIS FH2T
50,0003 30 «3& 4,500
OYRZ o, 2uslo NG
20,0003 x30H 6 3,600
O XXEH 22HI 400,000 x12& 4,800
OFQUXX A&23t AL 5,000,000& =13l 5,000
02 =224l 3,600 4,200 A 600
03323 ¥ AMEFXH 300,000& x12& 3,600
03 & At2 Gl 3,000 0 3,000
OUts=&EE3 M= 3,000,000& » 14! 3,000
301 LAz 18,000 23,040 25,040
12 JIEHE4 = 18,000 23,040 A5,040
OFQUTXIMEH ZA==ZH
300,000& x5t =128 18,000
HEE XNIAMEHEAN 2 1,400 1,960 A 560
ANAMEHE AN 2 1,400 1,960 A 560
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HEs dF2F | 154,010 145, 8,248
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QM2 == 13,0003 155 123 2,340
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5,000 «100F 25 *23] 2,000
OF=J| gx& 50,000& =40 122 2,400
Ost& 4 HiO Xz 23,0003 x40 122 1,104
OFE AR ZEH 9l 150,000 «12& 1,800
o&% H AIf MZ 70,000 200K 1,400
(©F=Fya] 60,0003 x1H 125 7,500
OL=EHIAZEN =Y 60,0003 »1H 462 2,760
oM 2Z 2 20,0003 1 2490 4,980
o=l 8,000 x15%H 602! 7,200
OMoi=+ & A |X 23 HH X2
550,000& 8 4,400
O+t & Y2t WA Y 50,000 *300H 1,500
OdAMEH 228 P 400,000 x6& 2,400
O=AEX & ARES P& 200,000&*12& 2,400
02 ZZ2H 49,936 47,680 2,256
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st 4) 1,800,000 «12& 21,600
oREs €5 2= 300,000& =122 3,600
OXs A Hotx=ER= 200,000 »12& 2,400
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OFAL HI|etM 2ol 9|
143,000& «12& 1,716
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OFA &2 |RAE+ E9H|
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01 2LHOHI 2,250 1,950 300
oA=& 0H| 50,000& *15H *33] 2,250
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O& ¥l 35,640
oJls 138,000& *15H x12& 24,840
OJFAH 60,000& x15H x12& 10,800
203 &R =&H| 11,000 10,920 80
01 J|2A2HLRE=XH| 6,600 6,600 0
OJ|ZA2HLRF=AH| 6,600,000 x1H 6,600
02 HRJAE R =&Y 800 720 80
OFIAINNMARFZY| 40,000& *20H 800
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Ooltgtel ottt X 2 =2 FHISA
100, 000& *100m 10,000
OWAe OtE2etd X 2 Ei+=2 FHISA
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100, 000& *100m 10,000
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100, 000& *100m 10,000
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100, 000& *100m 10,000
O=32c 022 LY L S22 ZHISA
100, 000& *100m 10,000
OsYgiel stz I 2 NEZHSA
100, 000& *100m 10,000
O=Y2el otsetz IH L NEFHSA
100, 000& *100m 10,000
OWAe Ot2etd MUEZ ZHIA
100, 0002 *100m 10,000
OYAel Eti==2 A 100, 000& *300m 30,000
o212l Etis==2 SAt 100, 000& *300m 30,000
OS2l (HAdZEsEE A)ESZEZHISA
100, 000& *200m 20,000
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201 Lpte | 1,800 1,800
02 22| 1,800 1,800
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22|yl 150,0002 * 122 1,800
3 48,000 53,000
30,000 35,000
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A2 I H 30,000 35,000
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SN a8
M =HEH AL A
el IR CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 Bt A= 63,720 64,270 A 550
058%-01% - HESSEAZ 60,660 61,210 A550
o0l &% 200,000 x 17 «12& 40,800
O0HANH= 200,000 *x17H *23| 6,800
OO0l &3 o EHAXGE 20,000& 178 %23 x12& 8,160
(OklFSEg=y 50,000& *13| x98H 4,900

12 JIEtE A& =2 3,060 3,060 0
OO0 SN2 15,000 «17H 12 3,060

DA 2322 28,441 40,871 N 12,430

A S H=ol &M L dHibl2el 17,112 19,561 N2,449
101 Q124 H| 8,112 7,161 951
04 JI2ZtHIZ2 2 NEES 8,112 7,161 951

O =2 HU=oH2H & Hiuiae o8
81, 120& x5 20 8,112
201 fBt24y| 4,000 2,400 1,600
02 2% H| 4,000 2,400 1,600
OaZ2d & HNEe3d AMd RAES
1,000, 000& 43| 4,000
206 M = Hl 5,000 10,000 A5,000
01 XHZ H| 5,000 10,000 A5,000
OAZ2S H=olletd £ diglzel
2,500,000 *23| 5,000

S2HLUL HEol 2 L HiHH2el 11,329 11,310 19
101 e1214| 9,329 9,310 19
04 J|12tHIZ22NEES 9,329 9,310 19

OSHUP HS=ollet M £ dHui2el o2
81, 120& »4H 10 3,245
OYURL MEZY 2Ry
81,120 x5 »15& 6,084
206 M = dl 2,000 2,000 0
01 2 b 2,000 2,000 0
OSHULP H=oll 2 H L Hjate 43537
1,000,000 23| 2,000
AFEHO| el Bl 2 A H| 3,000 3,000 0

AL O] Wrejel 2H 3,000 3,000 0
206 M = dl 3,000 3,000 0
01 X2 H| 3,000 3,000 0

OAMNHO et 29 MEH F¢
250,000 x12& 3,000
=80 FOXXMHEH 29 68,000 58,200 9,800
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SN s
H: =40 A E b
He =40 FOXNXNEH 29 ?HA)
DA HB B (EH) - MBAY - BAS il 2
XX HEH 29 62,000 54,000 8,000
201 Bt H | 44,000 36,000 8,000
01 AP 22l Yl 41,000 36,000 5,000
OFQUXXHEH 23H| 400,000& 128 4,800
OFURXIANE HIIslS BA 2Y
50,000& *30H x12& 18,000
OFURIIFANE LABIS BA 29
50,000& *30H x4 & 6,000
OFUNIAAS 2B, 250 B 45
20,000& *30H x12& 7,200
OFUXX I3 AIS 5,000,000& x13] 5,000
03 At L 3,000 0 3,000
onr2E23 M= 3,000,000& x13] 3,000
301 dEtEAZ 18,000 18,000 0
12 JIEtE &2 18,000 18,000 0
OFQUXNXHEH 29 2AE
300,000& x5t Sx12& 18,000
FOIFENMA 2H 6,000 4,200 1,800
201 Bt A | 6,000 4,200 1,800
01 AFR2 22l Yl 6,000 4,200 1,800
OXNYg3e F&HY 100, 000& *30H 23| 6,000
=480 HHSAAH| 142,606 157,064 N 14,458
Jl=23 bl 142,606 157,064 AN 14,458
282 A Y| 142,606 157,064 N 14,458
201 Bt A H| 85,110 91,640 A 6,530
01 AP 2t 2l Yl 42,470 46,400 A 3,930
O Yet+=gH| 19,610
OFAEH AE2E 2L 400,000& x12& 4,800
OAHTIH Al & 70,000& =204 1,400
O&td & A=ZE HEH| 20,000& *5004 1,000
OE10M & Rarol 400,000& *53| 2,000
O =9 H& 55,000& *30H4 1,650
ollExrss 13,000& x 102 x12& 1,560
OJl=7, 8JI8 472 =44l
100,000& = 12& 1,200
OMEBES SAEX 7Y 20,0003 *300 A 6,000
ozg=sY 15,180
O &b 60,0003 1 128 7,680
O A2 20,0003 *1H %237 4,740
OdZ BIaZ2R =& 60,000& *1H 46 2,760
O3l 8,000& x16H x60 7,680
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SN s
B 240 #I2ARY)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 42,640 45,240 A 2,600
o332= % HA 25,240
ORER= 350,000& x12& 4,200
(OFSPIETa=] 1,200,000& x12& 14,400
OaAcel HOIEEHE M3
100,000& = 12& 1,200
OXsg & &3 120,000& = 12& 1,440
O&JIIotHE HBHe2 200,000& =23 400
OF AR ZH &S b 150,000& = 12& 1,800
O8Il xts 50,000& x12& 600
OJIErsE22=2 ¥ HMAl 100,000& *12& 1,200
O™ =4l 1,500& *1,0004 *4& 6,000
OAEEHISXU (HA, X3 2) 3,600
OA & &HI KX 300,000& x12& 3,600
O Xt &k Bt 7,800
OxegE=FH 1,500 x1504 *2CH*12& 5,400
OXNEFHHSAH € A2EH|
300, 0003 *2CH x43| 2,400
202 (4] 40,416 35,364 5,052
01 2L Y| 2,400 2,100 300
oA=& NI 50,000& *16H *33] 2,400
02 AN Y| 38,016 33,264 4,752
O & ¥l 38,016
OPIE= 138,000& x16H x12& 26,496
OJFAk 60,000& *16H x12& 11,520
203 &R =X | 11,080 13,060 1,980
01 J|22F PR =&Y 6,600 6,600 0
OJ|H#2I IR 6,600,000& x1H 6,600
02 RN R = XY 880 760 120
OFJAINMNERF=AH| 40,000& x22H 880
04 2SI ERF=AH| 3,600 5,700 A2,100
ORNSIIRF&Y| 300,000& x12& 3,600
204 X2 =2 F H| 6,000 6,000 0
01 XS LRHAH| 2,400 2,400 0
OXHI L2 LHHY|(HE) 150,000& = 12& 1,800
OXNHIULLHHH (BEHE) 50,0008 128 600
03 SELREHI 3,600 3,600 0
ONREYSRE 25| 100,000 x3H x12& 3,600
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> A
A & 0l & AF 2 E A A
20199 & =20lah LBHSIH L IIEISESIH, IS8 895 ~ R3S
S AU
M YA A
CHol: ZEOIT O Al & B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SAH 853,287 970,174 A 116,887
SLHAMS ZHI 682,509 801,108 A 118,599
F O HO AL g4t 474,255 661,158 A 186,903
S22 A Y B2 51,903 61,509 A 9,606
101 @14 dl 21,903 31,509 A 9,606
04 JI2ZtHZ22HEE =+ 21,903 31,509 A 9,606
O E2H HM=HY & JIZ23tE, S&Z 2l
oI 81, 120& x5 202! 8,112
O Zsihae] 2 81,1203 x5 20 8,112
O ZU F2XA(HA S2F g) FAoL
2 81,1203 x5 14 5,679
206 M= Hl 30,000 30,000 0
01 =8l 30,000 30,000 0
© B2 2 JI2sE 48 235 2
500& *30,000= 15,000
© 2oz BUA BAXHE
500& *20,000= 10,000
O EH & dols 4357 1,000, 000& *53| 5,000
g zel 5,400 4,400 1,000
201 €24 5,400 4,400 1,000
01 At 22l 5,400 4,400 1,000
© FAL H3tE D 500,000 »1JH & 500
O BA &S =2 500,000& »23| 1,000
© F2EZF7Y & ®A22lH]
200,000& =122 2,400
© =28 MdJ 2108 M 150,000& 104 1,500
A2 FU=JAMY X2 416,952 595,249 A 178,297
401 A& HIZ 201 Y| 416,952 595,249 A 178,297
01 A& HI 414,000 591,500 A 177,500
O&1cd =288l £ 0t=d ZESA
100, 000& *120m 12,000
OFecl HH+==2FHl ¥ OS2 ZFSA
100, 000& *120m 12,000
Os4tel =2 Fdl & 0SSt ZEHSA
100, 000& *120m 12,000
Osat2el =2 FHl & 0S¢t ZHIA
100, 000& *120m 12,000
Os4a3el =2 FHl & 0S¢t ZHIA
100, 000& *120m 12,000
OMZ1el =2 FHdl & 0S¢t ZHIA
100, 000& *120m 12,000
OAMZF2el =2 FHl & 0S¢tz ZHSA
100, 000& *120m 12,000




S AU
M YA A
CHol: ZEOIT O Al & B (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O&dXicl =2 &Hl ¥ 0S¢ ZHSA
100, 000& *120m 12,000
O3XEc =2 &Hl ¥ 0S¢ ZHSA
100,000& *120m 12,000
ORIl WAL L 01SUL THIA
100, 000& *120m 12,000
OUEC =2 FH ¥ 0S¢ ZHSA
100, 000& *120m 12,000
OZ=cl =2 &Hl ¥ 0= ZHSA
100, 000& *120m 12,000
OAbtel BH=2&Hl ¥ 0= ZHSA
100, 000& *120m 12,000
OU=Ee =2 &Hl ¥ 0S¢ ZHSA
100,000& *120m 12,000
ouZiel =2 3Hl & 0S¢tz ZHSA
100, 000& *120m 12,000
ouZ2el =2 3Hl & 0S¢tz ZHSA
100, 000& *120m 12,000
Od3el tH+==3Hl L Otset2d ZEHIA
100, 000& *120m 12,000
OMZF1el SH3A 30,000,000& 1 £ 30,000
O&12l Eti==2 At 100, 000& *200m 20,000
Osdel SH(IFS)EXSAM
10,000,000& *1JH £ 10,000
OM=22 Eti=2 ZAt 100, 000& *200m 20,000
O&4t3el obA2 X EHZ A 10,0002 1,000 10,000
OAxEtel Eti=2 HHIAY 100, 000& *500m 50,000
OS2l otAE EZEZAE 10,0002 «1,000m 10,000
O&4Hel =2 ¥ FHZ ZHISAM
100, 000& *200m 20,000
OAattel E+2 FHISAM 100, 000& *100m 10,000
Osatel H0I=8 Hi+=2 ALY
400,000& *25m 10,000
o0tset =2 FHl , Al2| 24 S 2=
2 Hel(sarel 2 400H4A) 4,000,000 *5I0 2 20,000
03 AIE =2 0HHI 2,952 3,749 ANT97
OFQU=JAAY AIZ=20HHI
410,000, 000& *0.72% 2,952
ALK& 22 7,000 9,000 A 2,000
HALZ S K 7,000 0 7,000
201 £B-2%H| 7,000 0 7,000
03 A2 S HI 7,000 0 7,000
O ot S0l AL S 2,000,000& x13] 2,000
O SZHO stetetiry A2
5,000,000& x13] 5,000
HHYXNHA2S 130,750 130,950 A 200
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FA: 22
M RYUEAH B
Sel HINAUSY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sclgty 23 243 63,870 63,870 0
301 g4 = 63,870 63,870 0
05 S& -0 -EtEEs2E 60,810 60,810 0
O Ol&E=+¢ 60,810
Oo0l&E=+=< 200,000& 17" +12& 40,800
O &0z 200,000& 17 x23| 6,800
O slogEa=g 20,000 x17H x23| x12& 8,160
O ety 50,0003 1018 %13 5,050
12 JE2d =3 3,060 3,060 0
© 01,8% sHR=s 15,0003 172 =122 3,060
FOURXNEEH 29 60,880 62,880 A 2,000
201 et 42,880 44,880 A 2,000
01 At 22l 39,880 44,880 A5,000
O FCXXEEH 2] 300,000& =122 3,600
O XMXNEH2E+ 36,280
O ZOIRARS FIlalo #a+Y
50,000 34 «12& 20,400
O ZOIRAR AAEO BELYY
50,0003 *x34H 43 6,800
O FUXXSIVE YRG0, D50 Bax
=4 20,0003 34 62 4,080
O QXX A&t A 2,500,000 *23] 5,000
03 A2 S HI 3,000 0 3,000
OOt=EE3l Ml 3,000,000 » 14l 3,000
301 et a s 18,000 18,000 0
12 JEEd = 18,000 18,000 0
OFURIME 2Y ALY
250,000& x6 1 =128 18,000
FoEMM A 2 6,000 4,200 1,800
201 ¢er24] 6,000 4,200 1,800
01 At 22l 6,000 4,200 1,800
O X939 FHAxE 100,000& 30X »23| 6,000
2 FArzel XA 70,504 0 70,504
EALAI A 2te] 2 FH| 70,504 0 70,504
401 A& HIZ 201 I 70,504 0 70,504
01 A& HI 70,000 0 70,000
OH A AH EE2 S A
70,000,000 =14l 70,000
03 Al R THHI 504 0 504
OH A AH EE2 S A
70,000,000& x0.72% 504
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S AU
M AH HdF2LFH|
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SLH HdY2H | 170,778 169, 066 1,712
Jl=&l 170,778 169, 066 1,712
2Bt G| 170,778 169, 066 1,712
201 Let24d] 104,182 106, 322 A 2,140
01 At 2teltl 48,230 44,170 4,060
O LBt=+=EH| 20,290
O &% & d88F M= 15,0002 *300H 450
O &1I4 HMZHl 70,000& 204 1,400
OtE+sz 13,0003 x 1582+ 12& 2,340
O &9 & 2T uA 50,000& *300H 1,500
O BOM % 2kl 1,000, 000& *33| 3,000
O && A28 2L 400,000& 123 4,800
O MREE Y 4ABF & 200,000&+12& 2,400
O &) g4tz 50,0003 ~4CH+128 2,400
O MRTI S 272 244
200,000& =102l 2,000
o 2g=¢ 15,260
O g2l 60,0002 x1H 130 7,800
O deEtaZRNE 60,0003 x1H 46 2,760
O MHeHZLSH 20,0003 x 1 2352 4,700
o=l 8,000& x16H 60 7,680
oNdisS=+ ¥ T2otd HHILX
500,000& *2CH 5 5,000
02 =224l 55,952 62,152 A 6,200
O dIR3 2,500,000& x12& 30,000
O AL Rel&H 9| 220,000 1228 2,640
O A Aot ate] 29Hl 110,000& 128 1,320
O EA It e S|
198,000& = 12& 2,376
© A s3I RANEF= ESH|
198,000& »12& 2,376
O HOE=ZH HIRZE (MEL,2E,S4H
cl, thZel) 100,000 & » 128 »40H A& 4,800
O MEZEHISXE (HEALSXS 2,7 =2
AGHH) 500,000& =103l 5,000
O Xt& & Byl 7,440
Oxg=s=MU 1,500& x1404 *2CH*123 5,040
OXgdEd =X & 2234
300,000 *2CH 43 2,400
202 O4dl 40,416 36,064 4,352
01 = LH 4 1l 2,400 2,800 A 400
O 2A=F 0 50,0003 169 33| 2,400
02 WO 38,016 33,264 4,752
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w0 —
o) 8) RO

N0 N0 T
oF OF =~

2N
X XH
L= B
=

<

n0

Kio

Hl w

A500
A500

H3r
Wikd
RIS

10,880
6,600

680

3,600

4,800
2,400

2,400

11,000
11,000

Off &t 24

38,016
26,496
11,520

10,880
6,600
6,600

680
680
3,600
3,600

4,800
2,400

600
2,400

1,800
2,400

10,500
10,500
500
1,500
2,000

500
1,500
1,500

16«12
16 +128

2l *
2 %

138,000
60,000

© A0l
O J=
O Jrt

Kl
Kk
ok
ol

1

o

6,600,000

KJ
KF
oF
ol

-

02 &tk

1798

2l *

40,000

Kl
Kr
oF
ol

-

<

[gd]
RO

128

2l *

=

300,000

R0

<+
o+

204 =

R0
0
<+
o+
ol
D
=
Rr

128
128

2l x
2l *

150,000
50,000

R0
-
31
RO
ur

194
4]
1

1094

128

2«20
2l *
2l %

=}

2| %D %

250,000
1,500,000
2,000,000

100,000

=
=

SHi
|21 E HOol

3

©

405 KtatHH

<r

2l *

500,000

B

E
J

w]

ok

K0

3,000
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1M
1M

2 *
2l *
2l *

150,000
1,500,000
3,000,000

&l cctv WAl




20198 & 20

[z ==

N & O &

LU IIEIS SR, SIS S0 &H

for

A

H

>

ol
EHHAIE B HI
2 FMRX 22 (&)
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
1,115,762 1,400,502 A 284,740
895,502 1,210,922 A 315,420
290,800 215,400 75,400
57,600 61,600 A 4,000
39,600 39,600 0
34,800 37,200 A 2,400
g 34,800
dolslo &Y
50,000 x30H » 123 18,000
LA e
20,0003 30 123 7,200
S slosy
20,0003 30 «128 7,200
ARgETY
200,000& =122 2,400
1,800 2,400 A 600
2L HMASUS (M, Y 5)
150,000& =122 1,800
3,000 0 3,000
3,000,000& 13 3,000
ALtE A S 18,000 18,000 0
12 JIEE4d = 18,000 18,000 0
oFxol YA
300,000& x5t =+12& 18,000
EAHML =2 6,000 4,200 1,800
201 ¢4 6,000 4,200 1,800
01 At 2t 2l 6,000 4,200 1,800
OXZE3Zo F&E 100, 000 »30Y *23| 6,000
HEFALINH 29 135,460 137,200 21,740
01 EH2 I 113,460 103,200 10,260
01 At 22l 5,400 3,600 1,800
O AMNREZ & SAEX 7 200,000&*12& 2,400
O HARF F¢ 200,000& =63l 1,200
O HARE U MYIIZYRE 7Y
150,000& = 12& 1,800
02 =224l 108,060 99,600 8,460
© 60,0003 «5CH 128 3,600
© I, &6t+=% 85t x)
6,500,000& x12& 78,000
© E3d| 180,000& = 12& 2,160
© 22l dl 500,000& x12& 6,000
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SH: MO
M AMEEHAG B
S AEH FAMRI 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
© HI|, Ag orMzte| HE  600,000& 128 7,200
O dH HAESA L SHI FA 500,000%62 3,000
© ME dHI M 70,000& *30CH =12 2,100
© =& etdzte A HE=
200,000& »12& 2,400
O 8AFE 23J|17 =KXl
300,000& »12& 3,600
401 Al HIZ 201 8] 18,000 30,000 A 12,000
01 A& HI 18,000 30,000 A 12,000
O MEIIAZXHE & Ul SA
10,000,000 * 174 2 10,000
O MBI AZIMEYH 52| NAsSHAE2HE
Xl X 3A 4,000,000 =174 & 4,000
O MEISIAZXHEH ZF3ALE 8K &Y
2,000,000%23| 4,000
405 RH&HE S HI 4,000 4,000 0
01 AL EZFH S 4,000 4,000 0
O g2 2307 # 2,000,000% *2CH 4,000
dE =SXga 29 23,600 12,400 11,200
201 et 19,600 12,400 7,200
02 2524l 19,600 12,400 7,200
Oo=sXz2 &8, 4, 527 #A2el 89
700,000 1200 & 8,400
O=Xz& dI 28 Ra 350,000+ 1204 & 4,200
O=Xsl2 =843 X 2eltl 200,000* 1204 & 2,400
O=Xal2 AL &9 2 =HT FA
400,000& *43] 1,600
o%g =cteld M=« 150,000& 204 3,000
401 AIEHI L 2 0] 4,000 0 4,000
01 A& Bl 4,000 0 4,000
O =X32 2| HSFES2HEX EXSA
4,000,000 =104 2 4,000
AEH EELAETXNEH 2 32,140 0 32,140
201 Let24EH]| 30,540 0 30,540
01 At 2teltl 4,800 0 4,800
OEA~ESE F¥ 300,000& x53| 1,500
OANRES ¥ SMAEX ¥ 300,000& 53] 1,500
OHMABE 7Y 300,000& =63l 1,800
02 =224l 25,740 0 25,740
O&F=D Xtz 60,0003 =20 122 1,440
03323 (8Il, =&, S4K3)
1,000,000& »12& 12,000
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SH: MO
M AMEEHAG B
S AEH FAMRI 2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&FIE = 500,000& x13] 500
OR2&H 9l 200,000& 122 2,400
O&FI| & Aot (A=
400,000& 123 4,800
oggars ¥ S Fa 300,000 43| 1,200
odded A5 ¥ =4 1,000, 000& *13] 1,000
OdH =&KX 22t 200,000& »12& 2,400
405 RHoHE S HI 1,600 0 1,600
01 et EZFH S 1,600 0 1,600
OZct gy #+¢ 600,000& = 1CH 600
oM ¥ X 2 500,000& *2H 1,000
EALAIE 2t el 36,000 0 36,000
401 Al HIZ 201 I 36,000 0 36,000
01 A& HI 36,000 0 36,000
OBM HII&Hl 23 At 3,000,000& 14 2 3,000
OBMN HUEASZE ExSA
10,000,000 *1J4 A& 10,000
OO0l &34 AXSA 20,000,000 =104 2 20,000
OHEA ZctoH WHMIBA
3,000,000 =14 2 3,000
HEX R 29 79,910 79,810 100
sclgrEasid 79,910 79,810 100
301 et a3z 79,910 79,810 100
058 -0 -tH¥ESE43 76,130 76,030 100
O ol&E=¢ 200,000& *21H +12& 50,400
O &0z 200,000& x21¥ x23| 8,400
O slo&FEAxE 20,0003 *21H #2353« 128 10,080
O gt =g 50,000 145 13| 7,250
12 JIEE4 3 3,780 3,780 0
O 08 Stea 15,000& x21H 122 3,780
WHEE H BFxH 51,480 35,186 16,294
TEH Z2ae 24,168 29,186 A5,018
101 @14l 12,168 17,186 25,018
04 JI2ZtHZ22HEE = 12,168 17,186 25,018
OE2HY M= ¥ JIZ2sH , sat22te| o=l
£ 81, 120& x5H »302! 12,168
206 M= Hl 12,000 12,000 0
01 MHZ 4l 12,000 12,000 0
022 % JIZsE =482 =g
500& *20,0002 10,000
Od& & d3of 4357 1,000, 000& *23| 2,000
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2N
X ZH -
L= B

el

AlE e
A OI AL A b
WEE O BATY

A - ER(EN) - AR - B of & o4 SSa HIDZ2
IR 232 27,312 6,000 21,312
101 212 8| 8,112 0 8,112
04 JIZtNZ22XNSE+ 8,112 0 8,112
Oofiet=2 =&Y AR
81,1203 x5 202 8,112
201 LBt2 ] 6,000 6,000 0
01 At 22l bl 3,000 3,000 0
© =YX F0E A 150,000& 204 3,000
02 529 3,000 3,000 0
O A Ea2E88 & A2
200,000& *52] 1,000
© FALSXN2 55534 Itz
20,0003 *50& *22] 2,000
401 AIEHI X 2CHYI 13,200 0 13,200
01 Al£HI 13,200 0 13,200
oEsd MMZ M FHY 5,000,000& *23| 10,000
OoHAs2dd 34 Y 800,000& *42 3,200
RS- Rag=) = 470,312 877,526 AN407,214
AR 2FU=SIAANLX S 470,312 877,526 AN407,214
401 AIEHIZ 2 I 470,312 877,526 A407,214
01 A€ dl 467,000 872,000 A 405,000
Oz=&1el ot=etd HEHIZA 100,000 «200m 20,000
O=&2cl 0t=e+2 HEHlZA 100,000 «200m 20,000
O=CHicl ot=e+d HHIZA 100,000 «200m 20,000
O=02e| orsetzd FHIS A 100,000& x200m 20,000
OXHeHel ottt HEHIZ A 100,000 «200m 20,000
OX4t2el orSetz FHIS A 100,000 200m 20,000
O42cl Ot=td HHISAM 100,000& *200m 20,000
Ogdtiel orsSetz FHIS A 100,000& 200m 20,000
Ods&1el =2 HHISAM 100,000& *400m 40,000
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